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1.  1 3

125 :

(1) 2 (2) 4

(3) 5 (4) 8

(5)

2.
-4 5

1024

243
 
 
 

:

(1)
81
16 (2)

81
256

(3)
4
9 (4)

9
4

(5)

3.  I6 × 8n+2 = 2m,  m :

(1) n + 8 (2) 2n + 8

(3) 3n + 2 (4) 3n + 10

(5)

4. x3 512 = 2 ,  x :

(1) 5 (2) 4

(3)
3
5 (4) 3

(5)

5. 24 + x = 4  x :

(1) 125 (2) 144

(3) 120 (4)

(5)

6. 5X+3 = (25)3x-4, x :

(1)
5

11
(2)

11

5

(3)
11

3
(4)

13

5

(5)

7.  34x-2 = 729,  x :

(1) 1 (2) 1.5

(3) 2 (4)

(5)

8.   22x-1 = x -3

1

8
,  x :

(1) 3 (2) 2

(3) 0 (4) -2

(5)

9.  
x 1 x 3

a b
 

b a

 
      
   

,  x :

(1) 1 (2)
1

2

(3)
7

2
(4) 3

10.  2X × 81/5 = 21/5, x :

(1)
1

5
(2)

1

5


(3)
2

5
(4)

2

5


(5)

11.  2X - 2X-1 = 4 ,  x3 :

(1) 27 (2) 4

(3) 1 (4) 256

(5)

12. 2X+4 - 2X-1 = 3  x :

(1) 0 (2) -2

(3) 2 (4) 1

(5)

13. 42x -22x = 12 x :

(1) 2 (2) 3



31

Add. 41-42A, Ashok Park Main, New Rohtak Road, New Delhi-110035
+91-9350679141

(3) 1 (4) -1

(5)

14. 9X - 10.3x + 9 = 0 x :

(1) 2  0 (2) 1  3

(3) 1  9 (4) 1  -2

(5)

15.   23 12 6x x :

(1) x7 (2) x6

(3) x8 (4) x10

(5)

16. 2X-1 + 2X+1 = 320,  x :

(1) 6 (2) 8

(3) 5 (4) 7

(5)

17.  
n 5 3

4

9 ×3 × (27)
= 27

3×(81) , n :

(1) 0 (b) 2

(3) 3 (4) 4

(5)

18.
(12+n) (2n-7)

5n

3 × 9

3
:

(1)
1

3
(2)

9

13

(3)
1

9
(4)

2

3

(5)

19.   
0 -1

-1 3 -1

3

(0.6) - (0.1)

3 3 1
. + -

2 2 3
     
     
     

:

(1)
3

2
 (2)

1

2


(3)
2

3
(4)

3

2

(5)

20.
   2n 2 n/2

3m 3

9 3 3 27 1

3 (2 ) 27

 
 , 

(l) m – n - 2 = 0 (2) m – n – l = 0

(3) m – n + l = 0 (4) m - n + 2 = 0

(5)

21.  
x
a(b-c).

x
b(c-a).

x
c(a-b) :

(1) -1 (2) 0

(3) 1 (4) 2

22. a = (1 - m), b = (m - n)  c = (n - 1), 
(xa)n.(xb)1 .(xc)m :

(1) 0 (2) x

(3) x - 1 (4) 1

(5)

23.     
5 2 a 33 9 3 3   ,   :

(1) 2 (2) 3

(3) 4 (4) 5

(5)

24.  ax-3.ay+2 = a2.ax  ax.ay = a4, :

(1) x = y = 0 (2) x = y = 1

(3) x > y (4) x < y

(5)

25.  ax-2 (a2x+2 + a1-x) = a-3 (a9 +a2), x :

(1) 0

(2)

(3)

(4)

(5)

26.  ax = by = cz  b2 = ac,  y ?

(1)
xz

x + z
(2)

xz

2(x - z)

(3)
xz

2(z - x) (4)
2xz

(x + z)

(5)
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27.

(a b) (b c) (c a )a b c

b c a

x x x

x x x

  
     

      
     

 :

(1) 0 (2) xabc

(3) 2 (4) 1

(5)

28.

(b a) (c a) (a b) (c b) (b c) (a c)

1 1 1

1 x x 1 x x 1 x x      
     

 :

(1) xa-b-c (2) 1

(3) 0 (3) 2

(5)

29.  x = ya, y = zb  z = xc, 

(1) 4 (2) 3

(3) 2 (4) 1

(5)

30.  2X =3y = 6-z,  
1 1 1

 +  + 
x y z

 
 
 

:

(1) 0 (2) 1

(3)
3

2
(4)

1

2


(5)

31.  ax = b, by = c  cz = a, xyz :

(1) 0 (2) 1

(3)
1

3
(4)

1

2

(5)

32.  2X = 4y = 8Z  
1 1 1

4
2x 4y 4z

   , x 

:

(1)
7

16
(2)

7

32

(3)
7

48
(4)

3

4

(5)

33. n m m n

1 1

1 a 1 a 

    
:

(1) 0 (2) 1

(3)
1

2
(4) am+n

(5)

34.  m = ax, n = ay  mynx = a2/z  xyz :

(1) 1 (2) 2

(3) 3 (4) 4

(5)

35.
7/2 3

5/2

3 . y

3 . y
 :

(1)
2x

y (2)
3

2

x

y

(3)
6

3

x

y (4) xy

(5)

36. (a)  x x xx (x x ) (b) 33x+5×33x+3= 9

(c) 4X + 2 + 22x + 1 - 36 = 0 :

(1)
9 1

, 1
4 2
 (2)

9 1
, -1

4 2

(3)
1 9

1, ,
2 4

 (4)
9 1

1,
4 2



(5)

37. :

(1)  ax = b, by = c, cz = a,  xyz = o

(2)  p = ax, q = ay, (pyqx) = az,  xyz = 1

(3)  xa = yb = zc & ab + bc + ca= 0,  xyz = 1.

(1) 1  2 

(2) 2  3 

(3)  1 



33

Add. 41-42A, Ashok Park Main, New Rohtak Road, New Delhi-110035
+91-9350679141

(4) 1  3 

(5)

38. ?

(1) 2 , 3 3

(2) 2 , 3 3  

(3) 2  3

(4) 3 2 , 4 3  

(5)

39.
n 4 n

3
n 3

3 2(2 )
2

2(2 )







 :

(1) n 12  (2)
n 1 1

2
8

 

(3)
n9

2
8
 (4) 1

(5)

40. pqr = 1, 

1 1 1

1 1 1

1 p q 1 q r 1 r p  

 
        

:

(1) 0 (2)
1

pq

(3) pq (4) 1

(5)

41.

(b c a ) (c a b) (a b c)b c a

c a b

x x x

x x x

     
     

      
     

:

(1) xabc (2) xa+b+c

(3) xab+bc+ca (4) 1

(5)

42.

1/ab 1/bc 1/caa b c

b c a

x x x
. .

x x x

     
     
     

:

(1) 1 (b) 0

(3) x1/abc (4) x1/(ab+bc+ca)

(5)

43.  x, y, z 

    1 1 1x y. y .z z x  
 :

(1) xyz (2)
1

xyz

(3) 1 (4) xyz

(5)

44. 2 , 3 4  4 6  :

(1) 3 42, 4, 6 (2) 34 6, 4, 2

(3) 342, 6, 4 (4) 34 6, 2, 4

(5)

ANSWERS

9. 5
10. 4
11. 1
12. 5
13. 3
14. 3
15. 1
16. 4

1. 5
2. 2
3. 4
4. 4
5. 2
6. 2
7. 3
8. 2

17. 3
18. 3
19. 1
20. 5
21. 3
22. 4
23. 4
24. 4

25. 2
26. 4
27. 4
28. 2
29. 4
30. 1
31. 2
32. 1

33. 2
34. 1
35. 4
36. 2
37. 2
38. 2
39. 4
40. 4

41. 4
42. 1
43. 3
44. 3




